











































































































Exercise 2C

7 X Po 1 8

a P X 0 0.1652

P X 3 O 1606

P x 3 I PCXEZ
i l o 7306 0 2694

b 7 B 4,0 2694

P 4 1 4C o 26941 0.73063

0 4202

a X Po breakdowns per week

a i p x i I PCx o

l e t

O 5276

ii p x 2 e 4 6145 0.1329
2

b Pr b breaks down next week P X 1

O 5276
Since breakdowns independent






















For independent Poisson variables X a i 4

if X Po t and T Poly
then Xt7 Po Ita

Exercise 2b

7 C Po 0.1 12 D Poco 05 12

C P 1.2 D Poco 6

a P c D 1 PCC o

I e
2 0.6988

b Pfc Ind c

PCD c I e
0.6 o 4512

P C In D l O 6988 0 4512

0 31529856
O 315

c Yu Po 1.2 0.6 Po 1 8

P 7 3 O 1607

Adding Poisson Distributions.



Classwork and Homework

Exercise 2C Q 8 10 12,14
Exercise ZD Qb 8,10


